What Mass is & is not!—L F Morgan New Physics
                      Ode to Mass Defined at Last! 5-8-06
                  It’s about electrons & how they serve to bind; 

               To create force from strong to very hard to find

                 Reflecting surfaces tell of the binds we know;

                  Matter held inside is never part of the show.

           Mass is surface count of least friction ball bearings;

             Each with 6-degrees-of-freedom spatial parings

               That let Electrons inside tell those coming in

            Here is the bound’ry you are not allowed within.

As of 12 May 2006:  Wikipedia Proves that physics is a mess!]

“Mass is a property of a physical object that quantifies the amount of matter it contains. Unlike weight, the mass of something stays the same regardless of location. It is a central concept of classical mechanics and related subjects. There are three different quantities called mass: * Inertial mass is a measure of an object's resistance to changing its state of motion when a force is applied. An object with small inertial mass changes its motion more readily, and an object with large inertial mass does so less readily. * Passive gravitational mass is a measure of the strength of an object's interaction with the gravitational field. Within the same gravitational field, an object with a smaller passive gravitational mass experiences a smaller force than an object with a larger passive gravitational mass. (This force is called the weight of the object. In informal usage, the word "weight" is often used synonymously with "mass", because the strength of the gravitational field is roughly constant everywhere on the surface of the Earth. In physics, the two terms are distinct: an object will have a larger weight if it is placed in a stronger gravitational field, but its passive gravitational mass remains unchanged.) * Active gravitational mass is a measure of the strength of the gravitational field due to a particular object. For example, the gravitational field that one experiences on the Moon is weaker than that of the Earth because the Moon has less active gravitational mass. Although inertial mass, passive gravitational mass and active gravitational mass are conceptually distinct, no experiment has ever unambiguously demonstrated any difference between them. One of the consequences of the equivalence of inertial mass and passive gravitational mass is the fact, famously demonstrated by Galileo Galilei, that objects with different masses fall at the same rate, assuming factors like air resistance are negligible.”

The above definition begins by confusing mass & matter, & ends by confusing gravity force as applied to mass. Mass as measured scales the relative density of internal energy of an object in a way that lets it be countable as mass per M = E/v2. The speed of movement, v, in a given direction multiplied by itself or v2, is a measurable unit of internal energy. Energy stored as mass is frequency pulse releasable from an object along a line of motion at the average speed of v until all the energy is gone. Energy inside atoms is releasable to open space at a speed of v = c per Einstein’s most famous & most used equation, E = Mc2. M is clearly a measure of the releasable energy inside atoms as a count of electrons. The definition of mass that satisfies physical law is this:  the number of electrons releasable as energy as orbit stored inside atoms, and as closed orbit binding energy stored in bulk matter to hold its atoms & molecules together, is countable as object mass capable of being released & measured as free (non-binding) energy per M = E/v2( E/f, where f is pulse frequency.
Wikipedia can clear up the mess with the new definition of mass

The electron has constant mass, thus its energy must vary per the square of its average speed in traveling a standard unit of distance outside the given atom, or outside the given bulk-matter object that alternately absorbs & releases it.  Both the individual atom & an infinity of them are being real-time defined by orbiting electrons in a way that allows consistent experimental identification. That is, electrons orbiting inside atoms are it’s internal binding energy, & the count of closed orbit-loop electrons seen to come & go from it continuously, serve to mark its oscillatory energy state & its relative mass! These two things are equally true of bulk matter also. For the individual atom and for any number of them forming an object of bulk matter, we are benevolently given the same measurement handle for measuring mass. Said again, the number of electrons alternately coming & going not only mark current energy state, but nicely index mass! The kinetic energy relation for constant mass, E = Mv2 is the properly generalized energy-matter relation. The Einstein relation falls out of the fact that the average measured speed of all energy traveling in open space is v = c.  All Measure using the frequency of radiation per the electromagnetic spectrum must assume a pulse level constant speed of propagation!
Physics theory does not yet recognized that energy is being defined in a pulse- hidden way such that the frequency of radiation in open space is, fOS = c2! How did Einstein miss this aspect of physical reality as we measure & experience it in terms of the frequency of continuously impinging electromagnetic radiation that both mercifully & unmercifully creates and destroys life here on Earth? It is because not even Einstein was moved to ask how frequency pulse distance changes as a function of altitude in a gravity field. The focus has always been on gravity force gradient without the felt need to “see” what is moving to apply the force of gravity on literally everything that can be said to exist.  Unified force that includes gravity must be closed loop electrons that are spherically binding the gravity field as a concentric array of electron hosting shells! Circular orbit electrons within each shell bind the shell in 2-D. In-out oriented “Z-electrons” bind the shells to one another. 

The concentric in-out arrayed binding of circular electron hosting shells is the common structural aspect of a gravity field from atom to cosmos! Einstein’s continuous field is a concentric array of shells whose discretely variable depth, G, varies with distance R from the finite radius maximum density center-- per Kepler’s Universal Harmony, Newton’s gravity force law, & Einstein’s field equation-- & can be reduced to a common algebraic form; namely G = (R/ 3v2, where ( is frequency pulse Unit Energy Vector. The net in-ward direction of energy flow discretely increments gravity force in a concentric shell-touching-shell way, so that pulse distance as shell depth shrinks in size per the inverse square of R. The atom as electron bound gravity field lets us start over & get rid of the Bohr  atom. Electrons inside atoms & all other fields quite deterministically obey f = v/(.. Einstein has got to be smiling & rolling over for sure. He was getting close late in life by realizing that physics was mechanical-detail-lost in how visible matter manages to be self-identifying. He knew simpler math was the key, but was Shaw-Pygmalion stuck by his own great prediction capability. 
Einstein missed the fact that space-time automatically granulates to pulse-depth mark every shell location in a gravity field as a function of altitude, R, from a maximally spinning, finite radius black hole(BH) shell at field-causal center. We measure & experience physical reality in terms of molecular size closed loop electrons that discrete-pulse come & go one at a time ---from/to our external instruments & our sentient body mass. This means that mass must be a measure of gravity field internal, ongoing electron energy which literally 3-D structures & maintains our mind & body as a real time emergent whole. The holism is bound by complex patterns of electron closed loop (orbit) flow that real-time builds/maintains detailed structural level identity. This meaning of mass as ordered electron energy flow within physical structure applies to every organ of the human body, including the brain. Memory & recall processes are collectively defined in a holographic way using electrons as the stuff of thought itself!  While experience at the molecule & cellular levels is one electron at a time, it takes an infinity of electrons to originate, store and recall a single stimulus-response experience. Where do all the electrons so readily come & go from?  Molecules of unlimited combining functionality are made of a few or a practical infinity of continuously radiating atoms. Each atom has an infinity of circular orbit electrons stored in a large number of nuclear shells.

While observation & measure is done with electron closed loop granularity, we never come anywhere close to thought-experiencing in mechanical detail that ultimate observe/measure mass-granularity of h-grams of electron mass. Single electrons exist with a constant mass of h grams & variable energy levels beginning with a minimum level equal to Planck’s constant, h, in ergs. Quantum gravity is h grams (one electron), and quantum electromagnetic energy is one frequency pulse of h ergs. Planck’s constant, h-symmetry rules all physical law! How does one here prove this with an algebraic math certainty that also allows the gross uncertainty of our forced large number experimental observation & measure? It is much easier than Einstein imagined in his later years when he realized too late that simple algebraic math held the key to winning the argument with Bohr.

Seeing truth & refuting Bohr with only simple algebraic math 

Mass as a unit-mass-atom’s worth of electrons lets M = N(1/h) where we are forced by h-symmetry to let one electron as helical string wave be comprised of 1/h quantum wave functions as one world line turn around an R-size carrier material point = mass pt = math pt of the line along which we see the ray of radiation proceeding as we measure it  per E = nhf .Frequency of pulsing, f, acts as energy count, or f ( v2. This fact lets E = Mv2(  M[( N = 1/h)h]f = M(N = 1)f = Mf,  where each unit mass is a count of 1/h electrons of mass h each, that yield v2 ergs per frequency pulse! Since pulse distance really does vary, one must assume that pulse time and distance are entangled in a way that produces numerical equality of time & space in terms of electron passage regardless of the transfer medium. Electron length & time-of-passage vary in a way that marks lowest electron-energy state for the given pulse location in space-time. Space-time as we measure it is real-time structured by the closed loop passage of electrons – an anthropic-unified ocillatory source & sink of all mass, energy and force. 

Electron pulsing is the only way we are allowed to measure the movement of mass as kinetic energy of radiation at whatever frequency of the electromagnetic spectrum. Space & time at the electron pulse level cannot be separated (parsed) experimentally because it is the minimum energy & mass quantum by which all things material are observed & measured. We can properly infer but not measure an h erg minimum wave function quantum by letting the electron be 1/h of them in helical string wave tandem! Thus h-symmetry of mass-energy must rule for a new sense of physics as measured. We are prediction-consistent but blind as scientists because we cannot imagine successfully using faith based presumption. Willfully confusing mass & energy in an h-symmetric-predictive way blinds us so we cannot see fine detail.

We can do much better by constraining mind’s eye imagination like Einstein did; in a no force or action at a distance way. But we must avoid Einstein’s mistake of not letting material points act upon one another in a fluid mechanical “continuous” way – whereby carrier material points automatically spin- granulate in size/speed to mark lowest possible energy state & least friction for the given location. Matter broken into material points as a count of mass is absurdly intractable with respect to time, space and nested material point sizes without end.  One can say the same thing about trying to get the collective minds eye to see-feel-hug the word “Universe”. There is no end or beginning of size that a proper human mind can truly grab on to & hug -- so why imagine such when a real time emergently volatile gravity field is always involved?
Gut-Feel-Hug Understanding of gravitational mass as measured

Mass is a spinning space volume’s outer surface as interactively felt by next door spinning, always touching fields. Surface mass tells a lot, but does not quantify the dynamically nested  infinity of dark matter inside. Gravitational mass is discretely scaled shell by shell along the field vertical. A unit of mass is 1/h closed loop electrons. All mass objects are dynamically energy-surface emergent gravity fields, & have a causal black hole (BH) nucleus of maximum surface mass that is stirring its dark matter to form the characteristic field structure of concentric electron-orbit shells. The electrons binding the BH outer shell do so in a 3-D strong-force way. The c-boundary  surface of a field  is a long way from the BH outer boundary(RBH)  The RBH has an outer energy surface whose orbiting electron count is the maximum possible. 

The BH energy surface count of orbiting electrons is the maximum mass count for measurement purposes. The number of in-out oriented Z-electrons coming & going to signal energy state, serves to index surface mass. Spin-operative mass is the count of G-size mass points defining the spin surface of RBH. For a 3-D maximum density, h-symmetry demands 1/h3 ( 1078  orbiting electrons binding the BH concentric array of 1/h maximum density shell surfaces, each shell populated with up to 2/h (  1026 orbiting electrons. The exponential power of h is the  number of spatial dimensions. And note that a field-nested universe of n-dimensions means dealing with intractable 1/hn; a fun & games universe for math geniuses who are then blind to deterministic, measurement-local-outer- energy-surface 3-D detail! Note that 3-D space & the notion of time go with each variable depth, constant rate of spin shell surface.
We never get to observe or measure a BH for the simple reason that the electrons we measure by cannot get to the BH & return to tell us about it. Why? Because the speed achieved due to ever present gravity force in getting to & being captured by the BH goes way beyond c.  Any atoms or molecules subjected to gravity field circulating dark matter moving at speeds near & beyond c, are stripped of all their electrons. We simply cannot get our electron-bound instrumentation to penetrate beyond the c-boundary of a gravity field where the circulating dark matter has a speed of c & acts as a mirror that reflects back outward the instrument’s outgoing elliptical-orbit Z-electrons—so they fall back to source. Atoms stripped of it’s volatile electrons leaves only an immutable minimum radius BH common to all atoms of the periodic table.

Neither the BH of the electron’s instrument source field or the BH of the field being measured has a constant radius, but one that continually vibrates back and forth with the ongoing sending & receiving of electrons that mark current energy state. The instrumentation for measure has maximum “wholeness” energy state for the visible molecular matter involved, & the stirring BH of the field being measured has a maximum possible energy state that is forever sending/receiving more electrons back & forth than any visible matter (VM) can possible handle & survive.  The c-boundary shell surface of one VM  field provides maximum reflectivity for electron measure by another.. The c-boundary being where dark matter circulation must satisfy f( = v = c. The electron-hosting shell for a gravity field as a spinning whole must satisfy f( = v = 1 cm/sec = (f )(( = (2/f ) =  (2 (v = 1), where ( is the electron Unit Pulse Energy Vector that is also an electron unit of mass = h grams transfer at 1 cm/sec/ .

 Gravity force formula use of Newton’s- constant G = 6.67259x10-8 provides consistent measure of visible matter object reflective surface mass but says nothing about volume mass. Einstein did not see the necessity of  a black hole (BH) center for every gravity field to synchronously stir its dark matter per R/G = 3v2 = (M so that it applies a centric force to any matter entering the field. As an electron or any other object bound by electrons comes into a field, the BH stirred dark matter will push on it to quickly cause it to reach stable closed orbit. The speed & angle of entry determines how many shells deep it will go before achieving stable orbit. The G in gravity force & energy equations must vary such that surface mass, M, changes in inverse lock step; thus the product, GM, ensures a discrete concentric array of electron orbiting shells just like inside the atom. That means that surface mass at the BH outer boundary is maximum for two h-symmetric surface dimensions at 1/h2 & that the most visible shell of the field is where the dark matter circulates at the speed of c. By letting G & M thus vary in the gravity equation, one finds how Kepler, Newton, and Einstein equations are all causally tied together. G becomes at once:(1) the orbit shell depth of a planet, (2) a unit of surface mass & thus the Higgs particle radius (3) Einstein’s space curvature, (4) the key variable in an ever present totally unifying Universal Harmony expressed most clearly by R/G = 3v2 = (M.  

Failure to see; (1) the infinite fluid nesting of gravity fields &, (2) the central-causal role of the BH, & (3) the measurement locked-in (anthropic) status of cgs units of measure—allowed Einstein’s physics to become mired in a Quantum Theory mess. 

Using c as maximum speed along with h-symmetry, Einstein never saw that electron orbit speed at the BH of the atom must have an absolute maximum speed of v = (1/3h ( 237c, with a 2(R perimeter on the order of 10-13 cm (observed atom nucleus), with a max frequency & energy level of 1/h cps & ergs.  Thus letting the Bohr atom model stand uncorrected allowed the mess of physics to go on for a full century! Mass must be tied to the electron in a way that lets it v =  f(  define a new atom model one orbit at a time.  But note carefully that we only get to observe it in terms of its electron-visible orbit shell at about 10-8 cm, where v = c for circulating dark matter.

Atom as Molecule Builder & Maintainer of Electron Functionaliity

Atoms as holistic mass cannot approach the higher speeds near the center of the gravity field without loosing their binding electrons to the field BH, which obligingly expands it’s dark matter stirring radius. Atoms need a relatively narrow middle ground of gravity force acting on their c-boundary surfaces to sustain themselves.  The higher the speed of dark immersing matter the higher the gravity force acting on the atom’s c-boundary The atom as a whole expands & shrinks as it adjust to ambient gravity force –marking its energy state by the continuous absorbing & emitting of electrons. Relative extremes of gravity force on its c-boundary by ever-immersing dark matter, can make the atom move up & down in the periodic table so that its identity is measurably disturbed. A hydrogen atom can be easily stripped of enough electrons to the point of becoming a naked nucleus & no longer exist. On the other hand, naked atomic nuclei furiously coming & going can suddenly form hydrogen atoms that did not exist a moment before. 

Gravity force is always present for any atom, but the atom  is not present for every level of gravity force. Atoms do not exist at or near a BH, only electrons do! The new periodic table of the new atom model must address new parameters like minimum and maximum radius of the c-boundary corresponding to energy state range from known ground level to observe highest level for maximum lab temperature stimulus. The existing energy state marking spectral data on atoms is really about molecular ring size absorption & emission of electrons-- so that spectra data in measuring redshift has a minimum built in bias of 137 in relative size between a molecular ring of resonantly radiating constituent atom. Physics is a big bang mess in that we cannot parse the necessary spectra for molecules & atoms!

In a new periodic table, the radius Racn of an atom c-boundary is biggest for the highest ground level energy state or the one with the highest atomic number, n--

Which tells how many neutron orbit shells the atom has--the first element hydrogen having one. The number of proton shells is equal to the number of neutron shells in going up the table. That means proton shells turn into neutron shells when In-out oriented Z-electrons manage to strong force rigidify a proton shell that is then become the new outer boundary of the central growth/decay BH.  Atoms making up a molecule as volatile gravity field with BH, provide energy state differences that effect dynamically asymmetric internal field geometry. One molecule functionally interacts with another in a highly varied but predictable asymmetric way.

Atomic & molecular energy state is marked by each proton shell of the nucleus sending a circular orbit electron out to the c-boundary of the atom or molecule & back via the proton shell’s in-out oriented Z-electron as an elliptical orbit shuttle. The Z-electron for each proton shell can shuttle circular electrons back and forth in an orderly manner as required to maintain ambient overall energy state & indexes the relative mass of the atom & molecule. 

The larger the number of Z-electrons the larger & stronger the binding of the growth BH of the atoms & molecules of VM. The BH nucleus of the typical atom or molecule can grow by a factor of 10 to several hundred in terms of radius & number of Z-electrons. The top element of the new periodic table has an atomic number of 1/h and is called newtonium because it has a c-boundary radius equal to Newton’s G & has 1/h Z-electrons visiting its c-boundary to give it maximum 2D binding energy & highest ground energy state in the table. Newtonium continuously absorbs and radiates a unit mass of electrons, namely 1/h of them per second-- to mark ground state. Newtonium atoms cannot interact in varied geometric ways to form molecules. 

The atom & molecule are well-ordered gravity fields with the molecule being infinitely more asymmetrically-dynamic internally. Atoms tend to be spherical until bound inside a molecule by closed loop electron orbits whose overall pattern variability (while maintaining functional identity) can vary significantly in asymmetric ways that have the same replacement sphere average radius. For the typical molecule & its constituent atoms at the Earth’s surface, the replacement sphere radius ratio averages about 137. The inverse of the fine structure constant, 1/( ( 137, as revealed by so called atomic spectra, is really a molecular spectra constant that says average molecule replacement sphere radius is 137 time larger than that of the average constituent atom. Alpha can be Unity as best suits a dimensionless constant as spectrum frequency pulse distance of electron travel---which frequency goes by f = v/( for the entire electromagnetic spectrum. 

Nesting of electron bound dark matter as frequency measured & immersion-felt by atomic matter must display a space-time-entangled unity as both molecule & atom pulsed. Electron closed loop travel means variable (-movement per pulse of frequency, f, with a constant mass of h grams that pulse moves one R-size material point world line at a time—at a speed v that is constant for any given frequency of pulse measure. The values of R, G  & v change per  universal harmony (UH) of least friction/lowest possible energy state that says R/G = 3v2. Most important for ( = 2(R, we know that R automatically size and spin granulates as dark matter to make f = v/(.. Place an electron in orbit at the outermost shell of the typical atom at that wavelength. For all measurable events in the visible universe, we can depend on f = v/( for  all elecrron orbits frequencies of the spectrum. For the single atom as gravity field the spinning volume as a whole, like all other gravity field wholes, must satisfy f( =  v = 1 cm/sec. For the size  atom as we know it, to get a whole volume spin speed of v = 1, the field outer boundary has to have an average perimeter of ( = 1/(c = 5.775500808x10-6 cm  where  f = (c  = 1.731451582x105 cps. We finally know on average just how big the typical spinning  atom has to be as a gravity field whole volume.  
The visible atomic matter that orbits around us reveals our Solar System, our Milky Way galaxy, our supergalaxy, & our cosmos. The celestial order of nesting of visible matter that we see is the result of the internal nesting of gravitational mass – measured in terms of unit mass atom sized closed loop binding electrons having a unit mass of h grams – which happens with great h-symmetry serendipity-- so that we can model the universe using E = nhf. Let f range over the known electromagnetic spectrum. Visible light is a tiny band of that spectrum but that light we see by still must be electron pulsed like all other energy of radiation, all of which is felt at he individual cell & atom level but not seen by the retina of our eye. Let the electron be 1/h Quantum wave functions in helical string tandem, & 1/h electrons be a unit of mass. We thus calibrate the unified energy & force of the Universe without being able to parse electron energy & mass at the level h grams & ergs. Physics thus gets by in a way that allows experimental prediction success without detailed mechanical seeing & feel. 

Electron carried force of gravity, heat, light, UV & gamma rays are about measured electron flow.  It is time we realized that we are (1) made of, (2) sense & measure by  (3) bound as emergent holisms by-- closed loop electrons that we need to count as functional mass & energy of. Light comprised of protons, & all other known particles are made of electron side segments of helical-string-wave strung G-size Higgs particles –in  infinite numbers as anthropic measured. The closed-loop-moving electron is quantum gravity in terms of quantum mass, h grams, whose pulse movement at speed v is our measured minimum-quantum of energy, h ergs. Consistency of measure is guaranteed without having to tell whether h is energy or mass in the Planck relation, E = hf, but f as measured is atom & molecule pulsed electron energy. One might say out loud here: “go figure why physics is a gross mess!”. 

E = Mv2 ( Mf grossly defines mass- as atom-felt one electron at a time

The mass, M of a visible matter object can be BH-sucked out of it as energy, E, measured as moving along a line outside the object at an average speed of v.

What is it that is inside bulk matter that is so small yet so powerful that it yields v2 energy per unit of what is called mass? One here says that is the ubiquitous electron whose mass must be seen as constant & equal to h grams. Instrumentation for observation & measure of visible matter by other visible matter is the give & take of one electron’s worth of E at a time –a variable E that depends on the average size of the electron binding energy closed loops holding objects together as identifiable wholes. Those wholes are real time emergent as they interact with one another per the known laws of physics. In every observable/measurable instance, what we now call internal energy must now be called mass, & it must be counted in closed orbit electron units because that is what it is inside atoms & all other visible matter objects. Mass as defined by practical math involves multiple infinities of electrons!
Visible matter’s instrumentation manages to both measurement interact with & feel/see (experience) physical reality one molecular size electron at a time. Wherever applied, force is the count of electrons impinging on the energy surface that defines 

When a bulk matter object pushes on another with a given force in a given direction, that force is the vector sum in the given direction in terms of the number of electrons causing observed movement. Electron absorption is pull & release is push. We need to sort out the electron energy, E, mechanics of the visible universe called the cosmos by using our collective minds eye--to visualize the detailed mechanics of how orbiting electrons gravitationally create and maintain the atom. Only then can we begin to figure out how the atom builds the universe as we see it.

What an Atom is and is not

 What does “inside” an atom physically mean now that one knows the Bohr atom is mechanically false?  We have already found that the “seeable”(light reflecting) mass defining energy surface of an atom-as-gravity-field is where the circulating dark matter has a speed of c, and this shell boundary must be at about 10-8 cm? How much bigger is the typical atom’s gravity field than what we see under the microscope? It was just calculated above to be about 10-6 cm. We also know that the maximum density finite radius of the atom’s immutable BH is about 10-14 cm.  When atoms in large numbers are assembled as a lab--stimulated specimen for gathering spectra data, must not each one of them, at 10-6 cm, physically touch on 6 sides with atoms next door. All nooks and crannies must be dynamically filled with gravity applying, circulating dark matter. In the space between 10-8 and 10-14 cm, their has to be an immense hierarchy of electron orbit shells with increasing resident populations of circular orbit electrons as the shells get nearer to the BH?

The atom is clearly an emergent universe of its own, typically populated with multiple infinities of electrons that are always acting to bind dark matter to make emergent–whole’s = “holisms”. The atom & what we call the Universe are holisms contiguously nested inside with holisms without ends. Ends & beginnings are silly but very necessary & convenient notions we cannot do without, yet cannot really believe in them except in useful abstract-model terms.
Extensive experiment data now h-symmetry demands that up to 1/h electrons can populate each of the two spatial dimensions of a shell in an atom or molecule gravity field. As the shells become fully packed with 2/h electrons they are grabbed by the existing in-our oriented Z-electrons electrons going to & coming from the BH. At this point, a proton shell becomes a neutron shell that serves to grow the effective stirring radius of the central BH. The circular electrons inside each shell are never seen directly. Let the Z-electrons highly elliptical orbit be populated with either two or three circular orbit electrons depending on whether it is headed inward or outward with an extra circular orbit C-electron.  Atoms & molecules must continually radiate and absorb large numbers of C-electrons that are being Z-electron shuttled. Thus electrons come & go in huge numbers to serve as visible matter binding energy & mass. When released as mass, protons & neutrons are merely 2 & 3 electrons in helical string tandem. Z-electrons are in-out oriented electrons that communicate between the growth/decay nuclear core & the outermost light tangible c-boundary to mark energy state & relative mass. 

Atoms & molecules are gravity fields & both are 3-D electron-orbit-phase-structured. The molecule synergistically integrates atoms- each having a much more volatile electron energy hierarchy than revealed by the mechanically false Bohr model. The atomic spectra is really a molecular spectra, so that orbit average speed v= 2(rf applies both inside the atom & to the molecule as to electron orbits in 3-D! The Bohr atom is not only crude & incomplete, it is totally wrong, & Hubble discovered redshift is largely due to Bohr’s wrong assumption about how the frequency of radiation is determined. Molecule boundaries are defined by continual back & forth electron-quantified radiation that interactively binds its internal atoms with those internal to other molecules – to from characteristic patterns of useful functionality in creating & maintaining bulk visible matter.

The molecule is really the basic building block of bulk matter, not the atom! It is always molecular matter that detects energy at molecular frequencies! That is, E = Nhf is about molecular-frequency electrons! 

Atoms & molecules serve as ongoing radiation source & sink, but it takes an infinity of 1/h ( 1026 of them to equal a unit of mass at rest. And when that infiniity is being oscillated back & forth between resonantly absorbing/emitting atoms & molecules, the mass exchange involved is an intractable binding energy multiple infinity that holds them together as given identity of bulk atomic matter! The above, simple & coherent set of possibilities for what mass is all about deserves careful mechanical integration into our seen & felt model of physical reality as measured-- as much needed new physics. Long term advantage is that real world truth about physical reality can be  modeled in a way that lets collective body & mind genetically install it.

Starting over on a global scale is possible today because of the internet, & in a real sense the author sees it already happening-- but in the lame way Einstein saw as “science without across-the-board-integrating faith”. 

Starting Over in Physics  with “Molecular Properties of Matter”

Mass =  # of electrons of h grams each, that is, M = Nh, as alternately stored & released from molecules & atoms as visible matter. The volume of bulk visible matter is prima facie not directly related to mass but to the density of electron energy per unit frequency pulse volume, which volume is un-measurable! 

Frequency pulse distance is an un-measurable, obligatory unity. We get by because all measure of Molecular/atomic matter is via frequency per E = Nhf = Mf ( Mv2. That is, measure by molecular matter is by the frequency of pulsing of molecular matter.  Only the replacement sphere volume of molecules per 4/3((rm)3 is of physics importance-- so we can compute “Molecular density of electrons” & associate it with functionality for doing useful work. Microbiology should start building a Molecular Spectra & Periodic Table of Molecular Elements that inorganic chemistry can chime into at the bottom.

The variable-radius molecule of visible matter accounts for the entire measurable spectrum of frequencies, yet we are forced to treat its pulse distance & volume as dimensionless unity so that f is numerically equal to v2! Force-energy-mass unification is simple based on anthropic-consistent- molecular measure!

The structure of matter must focus on molecules more than atoms

Every thing we experience is based on the structure of molecular matter & the Bohr model of the atomic structure as basic building block is wrong.  The basic building block of visible matter is the molecule & its physical structure is almost an unknown in modern physics. It is a gravity field for sure & like the atom must have a central nuclear core surrounded by closed-orbit loop electrons that are complexly 3-D space-time organized. The in out Z-electrons of the molecule, as for the atom tells about the energy state of the molecule & its relative mass. Because of the huge variation in functionality as compared to atoms, especially in biology, the basic physics of molecules in terms of properties & structure must allow full visualization of cell splitting mitosis, & the Blueprint&Architect-Genomes of life.

What are called electron orbitals in microbiology must be investigated as “new physics”, where the properties of atoms within a community of molecules are linked to serve larger functional structures & properties of Molecular Matter. We desperately need to build a physics-level-descriptive Molecular Periodic Table whose complexity & usefulness far exceeds that of the atomic Periodic Table. Only then do we have a chance to gain adequate control of human destiny. The field of molecular biology needs to get “physics oriented” and devoted to “molecular engineering”. 

Electron h-discrete mass/energy makes a deterministic universe

Assuming we start over with biology as physics, how do we start over with math? It is easy to let the black hole (BH) of every gravity field from atom to cosmos be a causal, maximally spinning math point of finite radius, RBH, that scales the circulation dark matter field. 

The BH radius is then the minimum increment of distance as a unit space-dimensional quality for the field, & the inverse of maximum spin speed, 1/vmax is the minimum time interval, or unit time-dimension quality for the field. Maximum oscillatory energy transport frequency of back and forth pulsing of electron energy-mass may then be h-symmetry defined as fmax = (vmax)2 = ((1/3h) ( 237c . 

The BH stirs up a concentric array of synchronously rotating spherical shells made of spinning R-size particles whose spin surface is defined by G-size ball bearings-- such that R/G = 3v2 as a universal harmony (UH) of least friction. More h-symmetry says that RBH/GBH = 3(vmax)2 = 1/h & for the atom, RaBH  is numerically equal to  1/2(vmax ( 10-14 cm, &  GaBH is numerically equal to hRaBH ( 10-40 cm. These numbers fit just right for a BH-structured atomic size gravity field & allows mass to be h-understood.

As to what time really mens, consider this: as measure time is stuck at the c-boundary of the atomic gravity field, not at its outermost shell boundary.
If you restrict quantum physics to dark (non-atomic) matter at or below the size of R = 10-14 cm, & reject Hubble redshift in the direction of large, Einstein’s GRT works well for visible matter mass-energy-force, but it depends on mechanically false statistical averaging & does not reveal true detail at the local electron-event level. That is, GRT leaves the concept of mass in a mess no matter how you look at it, and is not up to making biology integrate well into the molecular bent of New Physics!

An Essay on Scientific Truth for humanity’s ultimate survival was written by the Author over 15 years ago & is available at the first link listed below. The third-listed paper connects “Living Systems” as published by James Greer Miller:

http://www.angelfire.com/wi/HolisticScience/Essay18.doc
http://www.angelfire.com/wi/HolisticScience/1MrMorganNewPhysics.doc
http://www.angelfire.com/wi/HolisticScience/1PhysicsofMind.doc
There are many other short & longer papers available for down loading at two web sites that have been there since 1992, namely:

http://www.angelfire.com/wi/HolisticScience
http://www.geocities.com/CapeCanaveral/Hall/2638
The latest update of this paper, can be downloaded with one click at :

http://www.angelfire.com/wi/HolisticScience/1WhatMassIsAndIsNot.doc
http://www.geocities.com/CapeCanaveral/Hall/2638/1WhatMassIsAndIsNot.doc
There is no desire by the author to get Einstein-like credit for a revolutionary rise of physics as new basis of all science disciplines. At age 82 he would be very happy to help any would-be Nobel laureate ---using any of the here partially or wholly defined subjects: truth must be developed & shared freely else is has no power.

1. The new electron model

2. The new atom model

3. The new periodic table

4. Force Unification

5. Energy Unification

6. Mass Unification

7. Outlines for the needed new molecule model & associated periodic table
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